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SECTION A

Questions and answers in English.

1  You are in Tel Aviv with your family.

(a) First of all you look round the shops. What is on sale here?

0"2D]

(1 mark)
(b) Then you go to a restaurant. What is on the special menu?
4 gm
(1 mark)
2 At the museum you see this sign. What does it say?
1BD?7 1NOR
(1 mark)
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3 You see this sign. What does it say?

110713

4  Later on you plan to visit this museum.
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(a) What time is the museum open in the morning?
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SECTION C

Questions and answers in English.
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(a) What are the consequences of Esther’s behaviour for the rest of the family?

(2 marks)
(b) What solution does Esther suggest to her parents?
(1 mark)
(c) What does Esther’s father say to her?
(1 mark)
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(a) Why did the mayor of Tel Aviv decide to have a day without shopping?

(1 marks)

END OF TEST

3676/R





